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LJ-1215

B.Com. (Part-III)
Term End Examination, 2021

Compulsory
Paper - 111

Management Accounting

Time : Three Hours] [Maximum Marks : 75
A2 Gt T & S [l | Y % Sie
A ¥
Note : Answer all ‘questions. All questions carry equal
marks.
THIE / Unit-1

1. Yaumd oarfafy & qftvmn s wd
U @ik & S A aREmEeT @
aUH HIST
Define Management Accounting and also

discuss the functions and limitations of
Management Accounting.
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(2)

Sorael Afgad fdlo o 31 ®TH, 2016 =1 HETA
g ¥ & fau env-gif @ fefafea ©

a0 THTo
Taao 3 Taao 7
YRS @Y | 1,00,000 |fosha 5,60,000
2 3,50,000 |3ifaq why  [1,00,000
EES Al 9,000
Tehed Y9
(SMY-BI &g
ol AARA) 2,01,000
6,60,000 6,60,000

T a9 20,000 |ehet oy
ICERRC] (TR 9
foao =19 89,000 |9 3faf@)  |2,01,000
-G fafram @
= 30,000 | 91w =
S AH 80,000 | (TR

T ) 10,000

fafr=mm &

fasg ey 8,000

2,19,000 2,19,000
fAfafEd st AT SIS
(a) Hohed MY AU
(b) S ¥ AU
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(3)

(c) TR 37U
(d) TREE o9 AU

(e) UNMMTsh I 31U

Following is the Profit and Loss Accounts of
Electro Matrix Ltd. for the year eanded 31st
March, 2016 :

Dr. Cr.
Particular T Particular g
Opening Stock | 1,00,000(Sales 5,605,000
Purchase 3,50,000] Closing Stock 1,00,000

Wages 9,000
Gross Profit
(tr. to P&L A/c)2,01,000

6,60,000 6,60,000
Administrative Gross profit
expenses 20,0004(tr. from trading A/c) [2,01,000
Selling and
Distribution Interest on investement
expenses 89,000| (outside business) 10,000
Non-operating
expenses 30,000]| Profit on sale of

Investement 8,000

Net profit 80,000

2,19,000 2,19,000

Calculate the following :

(a) Gross Profit Ratio

(b) Net Profit Ratio

(c¢) Operating Ratio

(d) Operating Profit Ratio

(e) Administrative Expenses Ratio
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(4)

THTE / Unit-I1

2. TeAfafEd faaor 9 &N yare fgawor sARe .
13799, | 31 9T,

2015 2016

(%) (%)

T 2,000 1,800
STeR 17,500 | 19,200
HY 12,500°] 11,000
4 10,000} 15,000
S CE| 25,000 | 27,500
T3 40,000 | 43,000
1,07,000 | 1,17,500

IR 18,000 | 20,500
Seh B e h1el) 15,000 | 22,500
TSt 74,000 | 74,500
1,07,000 | 1,17,500

g4 H YR & @it gl e STEm &
fau few U eexwr = W T 13,000 o)
I W B w1 YEHHE 1 378, 2015 qAT

31 T,
7 18,000 |

2016 Rl HHI: T 13,500 AT
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(3)

From the following particulars, prepare fund

flow statement :

st April, |31st March,
2015 2016
(%) (%)

Cash 2,000 1,800
Debtors 17,500 19,200
Stock 12,500 11,000
Land 10,000 15,000
Building 25,000 27,500
Machinery 40,000 43,000

1,07,000 | 1,17,500
Creditors 18,000 20,500
Bank loan (Long-term) 15,000 22,500
Capital 74,000 74,500

1,07,000 | 1,17,500

During the year, drawing by the proprietor for

personal.use amounted to ¥ 13,000. Provision

for= depreciation on machinery

stood at

¥ 13,500 on Ist April, 2015 and at ¥ 18,000

on 31st March, 2016.

37949l / OR

@ AHH-3[AS-3] & HeH H e Jawm
faeor § 9 YR &1 feamsti ¥ U yae

&I MM S fIER ¥ wWw s
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(6)

Explain in detail the calculation of cash flow
from these types of activities in cash flow

statement with reference to Accounting
Standard-3[AS-3].

613 / Unit-I11
3. g & w1 fog ¥ T2 W KA I T
Sar § 7
What is shut-down point ? How is it find
out ?

379747 / OR
Th BH fSas! aiftie Icea~emdr 15000
THEAT €, 10000 FREA[ ST H & T,
ot o3t 9wk H 725-9fd 3E W
¥ @ud ®1 T A 1 gfd IEE And
Wﬁ'l:lw%:

e 7
EEiRpil 8.00
Y 6.00
W RGN I 2.00
IR FREM = 1.50
EARI R 1.00
fasra =a3:

T 0.50

EIECRENI 1.00
Fd AN 20.00
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(7)

T foeeht UEw TE oo ¥ wE o W R,
Afehd a8 hedl 5000 THEAl A HA I
g ¢ IR @' Wt 18.00 Ufd zwE
W W T 3T FH Hl AR @R FHE
H HAR 72

A firm havinga capacity of 15000 units per
year produces 10000 units which are

consumed in home market at ¥ 25 per unit.
The cost sheet (per unit) on the basis of this
output is as under :

Item 3

Material 8.00
Labour 6.00
Fixed factory expenses 2.00
Variable factory expenses 1.50
Office expenses 1.00
Selling ©xpenses :

Fixed 0.50

Variable 1.00
Total Cost 20.00

A foreign customer is interested in the product
but he is willing to buy only 5000 units and
that to at a price of ¥ 18 per unit. Do you
advise the firm to accept the order ?
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(8)
TS / Unit-IV

4. 3@ w6 b & Tfafed gaigaEi @
S 9 A, 2016 (IR HiEAl % faw)
THh UHS a9 FARET :

AR | SYUR | SUR | "eigd [FHioh [yemeties | faska
faswa | wa g | T | I
| @R @] R [R®

T

2015 | 30,000 15,000| 3,000 [1,150.] 9060-\| 500

femwr

2015 | 35,000 20,000| 3,200 [ 1,225 |-1,040 | 550

EREL

2016 | 25,000 15,000{ 2,500.. 990 | 1,100 | 600

TR

2016 | 30,000 20,000} 3,000 [1,050 | 1,150 | 620

o=

2016 | 35,000[22,500| 2,400 [1,100 | 1,220 | 570

ol

2016, 40,000 | 25,000| 2,600 [1,200| 1,180 | 710
sifafted ged frergem €

(a) TEHI HI A HE H AAY H IUR
wiHfa T

(b) A% W® H T 10,000 HT AW T ¥
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(9)

(c) Uit == St fepam <M ©
(i) 15 SFEI @I T 5,000 H1 TS HA |
(i) 1 O™ H 9T H HI AR A

2,000 AITEeh foredi § fopan ST |

(d TER 2 9 & fed 3uR <@ T

(e) TSIGU 3Tl HIE I UBel ARG
T S 2

(f) 3 A & YA § Tk °8 & A
@@ 7

(g) 1 SHad, 2016 &l LRI USRS T 15,000
7

From the following forecasts of income and
expenditure, preparé, a cash budget for the
months January to April 2016 (for 4 months) :

Months | Credit| Credit, [Wages| Manufac- | Administra-| Selling
Sales | Purchase turing Exp.| tive Exp. | Exp.
) 3 | R) (%) (%) (%)

November

2015 30,000f 15,000 {3,000 1,150 1,060 500

December

2015 35,000f 20,000 {3,200 1,225 1,040 550

January

2016 25,000 15,000 |2,500 990 1,100 600

February

2016 30,000{ 20,000 {3,000 1,050 1,150 620

March

2016 35,000 22,500 {2,400 1,100 1,220 570

April

2016 40,000] 25,000 12,600| 12,000 1,180 710

70 JDB % (12)

(Turn Over)



(10)

Additional information is as follows :

(a) The customers are allowed a credit period
of 2 months.

(b) A dividend of ¥ 10,000 is payable in
April, 2016.

(c¢) Capital expenditure to be incurred :

(/) Plant purchased on 15th of January
for ¥ 5,000

(if) A building has been purchased on 1st
March and the payments are to be
made in monthly Cinstalment of

¥ 2,000 each.

(d) The creditors are_allowing a credit of 2
months.

(e) Wages are ‘paid on the Ist of the next
month.

(f) Lag in payment of other expenses is one
mornth:

(g).-Balance of cash in hand on 1st January
2016 is ¥ 15,000.

37947 / OR
frafafaa § @ fol @ w dfera feoforr
fﬂf@@:
OBEEREESE
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(11)

(b) TG oISTed
(¢) AT wse

Write short notes on any two of the
following :

(a) Sales Budget
(b) Performance Budgeting
(c) Material Budget

313 / Unit-V
5. gH9 o fafs § ygnl e SH o9
foeroll & fafv= g1 49899 # 9o
HifSTT |

Explain in brief the, various types of variances
used in standard.costing.

S7947 / OR

sIfefiaa efishel | TUMT SHIfS :
(@) T A fo=Ro

(b) Tt geu fa=ro

() At wam fa=ro

(d) TRt geifaa gam foe=ro
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(12)
(e) ST fago fo=ro .

BRG] ELSIEED
(i) 60 THEAT 2 WASHE 80 SHIEAT T 3 Ui 3T
(i) 40 THFEATT 3T SHE 40 SHIEAT T 5 Ui ST
100 e 120 A
SrEdfoleh | @R qdn gHIfud |t S
w1 e ot wifsw)

From the following data calculate «

(a) Material cost variance

(b) Material price variance

(c) Material usage variance

(d) Material revised.usage variance
(e) Material mix variance :

Standard Actual

(i) (60 units @ 2 perunit 80 units @ T 3 per unit
() 40 units @ ¥ 3 perunit 40 units @ T 5 per unit

100 units 120 units

Also Reconcile Actual Material Cost with
Standard Material Cost.
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